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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Which one of the following is the transmission medium for LAN transmission?
Microwaves

Satellites

Coaxial cable

Telephone lines

QNo: 2 Which tool brings the change in the shape of the characters/letter in percentage in MS
T word?

Contextual tool

Expanding

Stretching or scaling

Condensing

QNo: 3 Which of the following is a central device that splits the network connection into
multiple devices?

CPU

Tub

Hub

cPC

Q.No: 4 Which of the following is not a search engine?
Google

Wikipedia

Bing

Yahoo

Q.No: 5 The outcome of the following is-

i=4

While True:
If i%3 =0:
Break

Print (i)
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i=4

While True:
If i%3 =0:
Break

Print (i)



i+=1

2
1,2
123

Syntax Error

Q.No:6 The
File Explorer
Start

Recent files

Navigation pane

Q.No: 7 =SUM (B1: B8) is an example of a—
cell address

function

value

formula

Q.No: 8 Which acts as a barrier between public and private networks?
Remote backup

Patching

Data encryption

Firewall

Q.No: 9 In the OSI Model, which of the following is not a layer?
Help Layer

Session Layer

Transport Layer

Presentation Layer

What will be the output of the following JavaScript code?

S/ Javascript Comparison Operators
function compare()

[
L

int num=2;
Q.No: 10
char b=2;
if(a==b)
return true;
else
return false;
true

compilation error
false

runtime error

provides the access to the user’s libraries of documents and pictures.
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S/ Javascript Comparison Operators
function compare()

[
L

int num=2;
char b=2;
if(a==b)

return true;
else

return false;



Q.No: 11 The LC connector uses ferrule that is half the size of the ST. LCPhATRR et ohT ST el & Sit ST o S8 TR ol 81T &1
3.5mm 3.5 fasft

3mm 3 fasdt

2.25 mm 2.25 fasft

1.25 mm 1.25 fash

How many types of transmission cables are there that transmits the communication

Q.No: 12 fhd™ AR & TIRUT heldl B & i YR Hehdl ol TETRA et 872

signals?
2 2
1 1
5 5
3 3
Q.No: 13 In CSS, how do we make a comment? g9 CSS # fewuf 2 Sits geha §2
<content/> <content/>
/ *content*/ / *content*/
[#content#] [#content#]
{content} {content}
Q.No: 14 All of the following are examples of storage devices EXCEPT: frfefaa Tt @ier fearsa & Sareor § Ram s9a:
floppy disk drives eATdt fawer grga
printers folez
CD drives it gr=a
hard disk drives g1s fawer grga
Q.No: 15 What is the name of Amazon's cloud-based voice service? ST FI FASS- SRS are FfFq a1 =1 =T 87
Bixby foraeft
Alexa QeterT
Assistant sfwe
Siri &
Q.No: 16 Which process includes fixing of security holes in the system? fora wfohar & Rien & Qe el &t Sie oz anfiet 82
Risk Control Rer shgiet
Data encryption a1 gfreE
Patching i
Risk likelihood s ardeefigs

I U W gd A mafRy &<t i S gehr &1 91a: g simufy &< A i 5wt

Q.No: 17 what would the following snippet of code produce? Hig o1 F=fafea ferde Far Iame wvm?

import java.util. ArrayList; import java.util. ArrayList;

public class Test { public class Test {

public static void main(Stringl] args) { public static void main(String]] args) {

ArrayList arrList = new ArrayList(); ArrayList arrList = new ArrayList();



arrList.add(2);
arrList.add('2);
arrList.add("2");
System.out.printin(arrList);
}
}
[1,1,1]
[2, 2", “2"]
[2,2,"2"

1,2,3]

Q.No: 18 In MSword ___ is the functional key to display save dialog box.
F9

F12

F10

F8

Q.No:19 The____ toolbaris a very useful tool while editing web pages with KompoZer.
Status

Composition

Edit

Format

Q.No: 20 What the network interface card contains which the data-link layer protocol use this
o address to identify the system on the network?

Output addresses
Software addresses
Hardware addresses

Input address

Q.No: 21 Which of the following is a form of phishing that uses verbal scams to trick people into
doing things they believe are in their best interests?

Vishing

Rooting

Juice Jacking

Spoofing

Q.No: 22 What is the fullform of ‘SQI' in terms of computer terminology?
Server Query Locator

Schedule Query Link

Status Query language

Structured Query Language

Q.No: 23 what would the following bit of code produce?

arrList.add(2);
arrList.add('2’);
arrList.add("2");
System.out.printIn(arrList);
}

}

[1,1,1]

[2, 2, “2"]

[2,2,"2"]

[1,2,3]
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F12

F10

F8
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(function(){
setTimeout(()=> console.log(5),2000);
console.log(6);
setTimeout(()=> console.log(7),0);
console.log(8);
o

5678

6785

6875

8765

Q.No: 24 What is the role of “Smart Tag” in ms excel?
A data that Excel stores by itself

Information that help in calculating

An entry that Excel believes you may want to edit

Makes our spreadsheet looks smart

Q.No: 25 supports all current computer architectures including Unix and its
derivatives, Linux, etc.

Red Hat directory

Oracle Internet Directory

Open LDAP

Sun Java system

Q.No: 26 B.C.C. stands for?
Block Check Connection
Blind Carbon Copy

Binary Coded Circle

Bearer Channel Connection

Q.No: 27 Memory unit is one part of?
Control unit
Output device

Central Processing Unit

Input device

Q.No: 28 is best suited for voice communication and can carry up to 128 kilobits
per second of data.

Category 5

Category 4

Category 1

Category 2

(function(){

setTimeout(()=> console.log(5),2000);
console.log(6);

setTimeout(()=> console.log(7),0);
console.log(8);

Ho:

5678

6785

6875

8765
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The is a command interpreter that enables the programmer or the user to

Q.Ne: 29 interact with the computer. h TS SR & St ST T hl e Ter S22 e H et a1 81
Volume aregH
Kernel CEC
Shell Bic
Command HHS
Find the value of variable a ? TR a P A F1d HifoIg?
Q.No: 30
Vara=20%6 Vara=20%6
5 5
3 3
4 4
2 2
Q.No: 31 '.BAT extension refers to which of the following kind of file? ' BAT' yarésH fRferf@a &  fong uaR Y thise ot Gefia aar 82
Desktop file 2helT BIgd
Extension file QISR Tt
System file fawew wrge
Folder file TR GIge
Q.No: 32 What does "A" in "RGBA"? "SRRG & g T i &2
Automatic Automatic
All All
Alpha Alpha
Analog Analog

If you want to change a word written in uppercase to lowercase in Microsoft Word, IfE o7Tq HTShINGTTE 9 H U | ol Y 2168 ol dleRGY H seet-T 91gd &, df o A & &

Q.No:33 which among the following shortcut keys would you use? fong 2ifdee FIST (keys) T ITANT HAT?
Shift + F4 Shift + F4

Shift + F3 Shift + F3

F4 F4

F7 F7

Q.No: 34 QWERTY is used with reference to QWERTY a1 Wt fohgdh g<of & fovar sirar &
Printer firer

Monitor e

Mouse |8y

Keyboard Earic]

A network's normal traffic is
attempted to be disrupted by
flooding the server with many
requests, which prevents it from
responding to the proper

Q.No: 35 g} e H SrRie & T Ueh Aeadh & afid ¢thd ot anfia e ofk TR hl Sugeh SR 3 fog srueTey SR o T Rt & &Y H ST ST §

requests.
DDOS Attack Sidteiey gaen
Crypto Jacking forcat ST

Operating System Hardening TRfEn fRew grgfH



Phishing

Q.No: 36 Which hidden tool helps you to work on tables, and pictures in MS word?
Contextual tool

Ms button

Quick access toolbar

Program tab

QNo: 37 Which type of query presents the summary information in a compact format that is
similar to a spreadsheet?

Crosstab query

Append query

Union query

Update query

Q.No: 38 The programs which are as permanent as hardware and stored in R.0.M. is known as?
Hardware

None of the given Option

Firmware

Software

Dynamic
Host
Configuration
Protocol is a
standard
protocol
Q.No: 39 defined by

that allows a
server
distribute IP
addressing
dynamically.
RFC 1541 RYEHI(RFC) 1541
SRUEH(RFC) 200
SRYEH(RFC) 213

RYEHT (RFC) 959

RFC 200
RFC 213

RFC 959

Q.No: 40 One of the following is not a JavaScript framework, which one?
Node

Angular

React

Babel

Q.No: 41 What refers to the hackers’ sending commands to a web application on behalf of the
o targeted users by sending that specific user an email?

Browser security

Session riding

Cookies
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Virtual Machine escape

When we execute this code, what happens?

function test(...args) {
Q.No: 42
console.log(typeof args);

}
test(12);
Number
NAN
Object
Array

Q.No: 43 Which of the following is NOT an alphabet used to denote a hexadecimal number?

G
A

Q.No: 44 Which of the following language we use to style an HTML document?
Css

Java++

C++

Java

Q.No: 45 Linuxis a(n) operating system
Open-source

MacOs

Windows

Microsoft

Q.No: 46 What is Yandex?
A search engine

A word processor

A spreadsheet software

A programming language

Q.No: 47 Aresult of a computer virus can NOT lead to

Deletion of files
Mother Board Crash
Corruption of program

Disk Crash

Q.No: 48 The Word F.T.P. stands for?
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function test(...args) {
console.log(typeof args);
}

test(12);
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File Transit Protocol
File Transfer protocol
File Typing protocol

File Translate Protocol

Q.No: 49 Which toolbar is located at the top of the word window in MS word?
Program tab

Quick access toolbar

Contextual tool

Ms button

Q.No: 50 What are various forms of malware?
Trojan

Worms

Root kits

All of the given options

Q.No: 51 The administrative privileges are available to only a user known as:
Task user

Stem user

Under user

Root user

Q.No: 52 LSIC stands for:
Large Scale Inner Circuits

Large Storage Integrated Circuits
Large Scale Integrated Circuits

Large Scale Integrated Computer

Q.No: 53 Which tool brings the same amount of spacing within the letters in MS word?
Scaling

Contextual tool

Expanding or condensing

Stretching

Q.No: 54 What is data encryption?

Process of editing text

Process of converting pictures into text

Process of converting unencrypted data into encrypted data

Process of converting symbols into text

Q.No: 55 Which of the following offers the highest level of security?
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HTTP HTTP

SSL SSL

HTTPS HTTPS

Q.No: 56 Zvrt:i(;hdi;oar:;nerce transaction offers the advantages of doing away with the need for S ¥ S . & S —— 2

Consumer to Business g g e

Government to Business e g faea

Business to Consumer foem g g

Business to Government forga g ade

QNo: 57 refers to unsolicited email sent in bulk to many users at a time for oSy 1 & g ueh I9a & o6 Iudiehatel ot oie & At 7T sraifdd S8 Y
o commercial gain. Gefdq war gl

Identity theft Tgfedt due

Computer virus R AR

Data leakage e R

Spam @y

Ivh U1 WR g 7 st~y gt Y S gehl @1 ora: g stufsy gt e i s it
Which are associated with users who deny performing an action without other parties @ & U8 IUTNTehd! & it 31T T&it o ST BRATS heet ¥ 3ThR hed 8, TUT 35 TTfeId A DT

QNo: 58 having any way to prove? FIE 3T e 82

Repudiation Rogddzm

Malware AR

Scanning hiAT

Probing wiferT

Q.No: 59 MS Outlook is a — MS 33 & -

Spread sheet e ofie

Presentation format TSl thife

Word processor 7€ IR

E-mail client -8 gATse

QNo: 60 When you start the computer, some initial text information is displayed on the \—rITsI'aﬂU HHR 2\1?8. &R g, at ‘@ﬁ? R B AR TR TR U&iRTd gl 81
screen. Where an operating system does gets loaded, after booting? e & a1g AR R wgl ot glar 82

Software afredmR

ROM L]

RAM ™

System fRen

Q.No: 61 Which criteria is used to find the records where the field is less than a certain value? STgt thics Uah fAfa a1 & & 8, agi Reprd @ie & forg fohe amics ot I forar Sirar &2

- =3
<= = =
= =

> = = =

Q.No: 62 How many rows and columns are there in Excel 2003? Ydet 2003 F fohda A 3R sl 872



65536, 245 65536, 245

6576, 245 6576, 245

65767, 256 65767, 256

65536, 256 65536, 256

Q.No: 63 From what location are the first computer instructions available in boot up? C 37T H U e (Eer fohd @i & Iuerey gid 87
ROMBIOS ROMBIOS

CPU CPU

Boot.ini Boot.ini

CONFIG.SYS CONFIG.SYS

Ih U R gd § mufay gof Y i g &1 o g anmuf¥y gof A Y o wdeh

Which tab replaces the standard set of tabs when switching to other modes in MS

Q.No: 64 Word? TUE 9€ § o HiS # T oA TR Rl 91 891 39 & AHeh de ol ufaenfig anear 87

Quick access toolbar forren QY ToleR

Contextual tool heFIgHe gl

Program tab e &

MS button QUG e

Q.No: 65 ﬁ]e orgamsatkr)r:]a'intains a database of authorizations based on the security policy of Qe o e S 3 SR o SRR o e 2erdr < 21

Auditor siffer

Security administrator iR e

Programmer R

Reference Monitor Ropd=w wifAeR
A is a special key word which can be entered into a cell

Q.No: 66 in order to perform and process the data which is appended Uh__ U Aty gott 21 & fOd ddhe & ofier Term 21 ol rRopnd ofk T ot & forg St & vder fomar i wekar 81
within brackets.

Font Wi

Insert e

Function TR

Style e

Q.No: 67 How many blank worksheets are shown when a new workbook is created? TS Yok A% Ieheh STS el & af fohat) @reft adhefte feward il 82

4 4

2 2

1 1

3 3

It is better than hub. It doesn’t broadcast the message over the network, and it sends % 89 @ SgaR &1 T8 TR0 ol Aedch TR THIRA 8! el §, 3R Ig I fSarsy ol W1 Aorar g

Q.No: 68 the message to the device for which it belongs to. What is it? g fore g 9eifda §1 a8 = 82
Switches o=

Connectors Fraed

CPC it

Cables had



Q.No: 69

Nodes
Area
Server

Laptop

Q.No: 70 Which feature of MS Word contains portrait and landscape mode?
Columns

Page orientation

Page size

Margin

Q.No: 71 To print an entire spreadsheet, what one should click from the File Menu?
Page layout

References

Entire

Page setup

Q.No: 72 Which of the following is a cloud platform by “Amazon” ?
Meta

Amazon Web Service

One Drive

Dropbox

Q.No: 73 Common Gateway Interface programs are written in

Java
HTML
COBOL

C and FORTAN

Q.No:74 A is an application that stores the organized collection of records.

Document
Database
Column

Row

QNo: 75 When the user completes composing a message and sends it, it is changed
into a formatted message.

RFC 210

RFC 959

RFC 2822

RFC 1422

Q.No: 76 Which Indian state is the first to launch the Online flood reporting system?

The computer that provides resources to other computers on a network is known as
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West Bengal
Assam
Tamil Nadu

Odisha

Affan Yousuf is an Indian field hockey player from which of the following district of

Q.No: 77
Madhya Pradesh?

Sagar

Khandwa

Bhopal

Neemuch

Q.No: 78 Where was the 108th Indian Science Congress held in January 2024?
Nagpur

Hyderabad

Delhi

Bengaluru

Who out of the following won the Gold Medal in women'’s 10m air rifle at the Paris

Q.No: 79 s
Paralympics in 2024?

Mona Agarwal

Sonalben Patel

Avani Lekhara

Rubina Francis

Q.No: 80 In what year was the office of Governor General created?

1793
1839
1773
1857
Q.No: 81 Which of the following Indian para-athlete secured a gold medal in

the men’s high jump T64 event at the 2024 Paris Paralympics?
Praveen Kumar yeftor AR
Pramod Kumar THE FHR
Nishad Kumar e AR
Mariyappan Thangavelu Afgw Ay

Q.No: 82 Limestone, chalk and marble are different types of:
Calcium carbonate

Calcius iron

Calcium oxide

Calcium hydroxide
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Q.No: 83 which pigment directly transforms light energy into chemical energy?
Chlorophyll- a

Carotenoid

Chlorophyll-b

Xanthophyll

Q.No: 84 What is the hardest form of carbon?
Diamond

Coal

Graphite

Gas Carbon

Q.No: 85 Which MS Office application is used for creating, editing and formatting documents
with text, images and tables?

Microsoft PowerPoint

Microsoft Access

Microsoft Excel

Microsoft Word

Q.No: 86 Which MS Office application is used to create and manage databases?
MS Excel

MS Word

MS Access

MS PowerPoint

What is the device called that receives data from a computer system for physical
production?

Q.No: 87
None of the given options
Storage Device

Input Device

Output Device

Q.No: 88 What is the purpose of the Windows Update feature?
To update the operating system and software

To uninstall programs

To manage system backups

To install new fonts

Q.No: 89 Which type of software is designed to detect and remove viruses?
Database management software

Graphic design software

Office suite software

Antivirus software

Q.No: 90 CDMA stands for what in mobile communication?
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Cellular Data Multiple Access
Code Division Multiple Access
Code Data Mobile Access

Cellular Division Multiple Access

If in certain code language Cook is coded as 22456015 and Food is coded as

.No: 91
Q 8456030. Then how is Fool be coded in same code language?

24456035
24456030
25456030
24456032

Select the figure that will come next in the following series.
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Select the option that is related to the third word in the same way as the second pair is

Q.No: 93 related to the first pair.
Ra-one : Bollywood :: Avengers : ?
The Combine
Tollywood
Hollywood

Lollywood

Q.No: 94 Find the odd one out from the given alternatives.
428
248
189
326

Select the option that is related to the third word in the same way as the second pair is

Q.No: 95 related to the first pair.

Ganga : Patna :: Thames : ?
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Canberra heTeRT

Moscow AR
New York it
London we
Choose the missing term out of the given alternatives. g Mg et # & g ue & gFgl
Q.No: 96
BF, CH, ?, HO, LT BF, CH, ?, HO, LT
EK EK
FJ FJ
EM EM
DN DN

QNo: 97 6 men and 5 children earn Rs. 1400 in 5 days. 8 men and 7 children earn Rs. 3040in 8 6 Y& 3R 5 aTeieh 5 &l & 1400 . AT &1 8 TFW 3R 7 a1t 8 AT # 3040 3. F1d &1 3

days. In how many days will 3 mens and 3 children earn Rs. 600? q&Y 3R 3 a1ereh v At § 600 %. FATg?
6 days 6=
8 days 8=
5 days 5=
4 days 4=

The ratio of the present ages of Priya and Loren is 3 : 4. After 12 years, Loren will be a7 3R &iRA &t adfAT Sy a1 3rguTd 3 : 4 &1 12 a a7e, | 36 a9 Y g sreeft

Q.No: 98 36 years old. What was the age of Priya 6 years back? 6 1T Uge! o Y smg ar ofi?
23 years 23 as
16 years 16 as
24 years 24k
12 years 12 o

The difference between a number consisting of two digits and the number formed by
Q.No: 99 reversing the digits is 45. The sum of 3 times the tens digit and 5 times the unit's
digit is 47. Find the number.

31 3ichl aTelt Teh AT 37 3ichl ht IJetet @ ST TEAT o o< T 3icR 45 &1
TS o 37k o 3 T[T SR SHTE & ik & 5 7T o1 ANT 47 &1 T 1 HIfSg|

47 47
49 49
94 94
38 38

The age of a boy will be twice of present age after 5 years. Find his present age in

Q.No: 100 years 5 §1E g hY 3T AT 3 @ QN g1 ST | IHehT i 3rg &t F 371 HifSg)
5 5

2 2
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